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4 fIn(f(x))} = fﬂ(“%

| True or False?
4 {ef@)}) = of @),

The derivative of In(2z) with respect to = is 1/x.

| 5z dz =In(v1+2?)+C.

Ind o,
fo e2T dx = 12.

T — 2 ln(*rr)‘

log,o(e) = 1/1n(10)
foﬂ/ * tan(z)dz = —In2

The derivative of 2% with respect to x is 2°.
If a > 0 then In(a) > 0.

If z > 0 then (Inz)® = 8In(x).

If z < 0 then In(2®) = 8In(—x).

ﬁ{ln(l())} == —116

41107} = 21071,

81
/ —~dr=2In2
9 &

If a > 0 and b > 0 then In(ab) = In(a) + In(b).
If a >0 and b > 0 then In(a + b) = In(a) In(b).



